(4)

on the following terms :

(1)
(2)

(3)
(4)

(5)

(6)
(7)

Furniture to be depreciated by Rs. 1840
A Provisions of Rs. 2640/- was made for
outstanding bill

Value of Goodwill will be Rs. 29,400.

An old customer of bad debts agreed to
Pay Rs. 4000 in his account.

Value of building to be appreciated to
Rs.1,09,820.

D shall bring Rs. 29400 as his capital.
Partner’s capital A/c are to be adjusted
on the ratio of D’s capital.

Pass journal entries and prepare neces-

sary accounts.

32 D & 1/8 91T & ford = 91t IR I8ieR 899
&1 e foar -

(1)
(2)

TR B 9o 1840 3. I ST S|

3T IREA & o) 2640 3. B A o
S|

ST B qed 29400 T AFT S|

g9d W F U TEd & 4000 T. I B &
AT T Y= BT GeT TGIHX 1,09,820 B. BT &
D 29400 3. Y3t & w7 § @RI
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B.Com. (Part-I) Examination, 2015
ACCOUNTING
First Paper

Time Allowed : Three Hours ] [ Maximum Marks : 100

Note : Answer Question No. 1, which is compul-
sory and carries 40 marks and four other
questions, which carry 15 marks each,
selecting one question from each unit.
7o H. 1 f59% 40 3id &, &1 IR afore, e
sfvart € g s9% 3R T 518 I P
e f5a5 15 31 €, &1 T ad gL, IR 3

TSl & FR alfore|
1. Write brief answers to the followings :
frfoRea & <féra & 3R dfse -
(i) Utility of Accountancy
oraTfafer o JuATHre
(ii) Need of International Accounting Stan-
dards.

RIS eRAfB FH1T &Y 3TagadHar

P.T.O.



(2)
(iii) Methods of calculation of Interest on
Drawings.

3TERUT R &IT51 DI TUHT B o fafer

3)
3MARUT & Wb U9 UEd P U TTdh ol TUHET
P B ST 22
Unit-I / 3oR-1

X, Y and Z are partners in the ratio of 6:5:3.

(iv) Determination of Purchase Price in amal-
Their Balance-sheet are as under :

X,Y 3IRZeHwH #6:5:3 % 3FUT & IRER

gamation of company.

Sl & THIBRYT § I qed & HEROT B

AR 21 3! gt e TR 2
(v) Explain characteristics of Hire Purchase Balance-Sheet afdi® fergt
Liabilities Amount Assets Amount
System.
. Bills Payable 12600 Debtors 52920
=T g ugla & fagiwansn & s Hifs| Y
- . . g faer aTaR
(vi) Differentiate between Royalties Reserve
¢ sh " Creditor 37800 Cash 3780
rom ort working.
£ . g I { 35§_
IUBR Yeh T BT AYB I IR Difo |
General Reserve 21000 Stock 58800
ii) What is objective of Insolvency Act? .
(vii) i jectiv vency
%T:IT%‘ITIT gﬂ%ﬁq—q 3%311 )
aife il Rl % Capital A/C Furniture 14700
(viii) What is the difference between a branch 113?[ @ iR
and a department? X 70800 Building 90300
W@%mﬁmﬁ%p Y 59700 UaT
(ix) What do you mean by voyage inprogress? Z 29100 159600 Goodwill 10500
3t AT & FT T 2P e
(x) How containers stock and stock with the 231000 231000

customer is calculated? They admit D for 1/8th share into partnership

C-901 C-901 P.T.O.
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of last two year average profits. The average
profit were Rs. 26000 and 12000 respectively.
Pass necessary journal entries and prepare Bal-
ance sheet in the books of new company.

I8 I 831 o6 Ml S+l & Wae &1 e 10 wfererd
&9 N T g9 0T & o 5 uferd &1 3maee
fovan S| Tt &1 e T & st & Siia ATy
& 3 T W fohar S| 1 &1 8t &l o4 el 26000
B. U9 12000 B. o7l R S D gDl § e
yfaftcat va snfdie fagr s

‘A’ Ltd. company went into voluntary liquida-
tion with liabilities amounting to Rs. 30,000
and assets eventually realized Rs. 178000. The
capital of the company consisted as Rs. 10000
Preference shares of Rs. 10 each, of which
Rs. 7 per share was called and paid up. The
holders of 8000 preference shares had, how-
ever paid-up the full Rs. 10 in advance of calls.
In addition there were also 10000 Equity
shares of Rs. 10 each, on which Rs. 9 per
share had been called Holders of 2000 Equity
shares had however, paid-up Rs. 8 per share.

Holders of 4000 Equity shares had paid-up the

C-901

(5)

(7) D @I Usit & fe<Ta ¥ 39 3T & 3MIR W
R ARER & Yo @l o waefsa foan
S|
MATIS el Uide DS g @i § 8|

M.N. and O are partners sharing profits in the

ratioof 2 : 1 : 1. Their Balance sheet is under-

TH. . TG 3. 2 : 1 : 1 O 3UTT aTH [aHTeH axdb

AN o o
TeR g1 3T gl 4 1R ¢

Balance Sheet 3mff& fugn

Figure in Rs.
Liabilities Amount  Assets Amount
Capital A/c Cash 12000
IR A
M 40,000 Debtors 34000
N 20000 [EARY
D 10000 70000 Furniture 10000
LRI
Contingency Reserve 12000 Stock 21000
JEIGd Fag DI T
General Reserve 16000 Plant 41000
A ST DY @~
Creditors 20,000
THER
1,18,000 1,18,000
C-901 P.T.O.



(6)

The firm is dissolved and the assets are
realised as under :

1st realisation Rs. 14,000, IInd realisation Rs.
39000 and IIIrd realisation Rs. 38000.

There was a contingent liability of Rs.4000
which was settled at Rs. 3000 at the second
realisation. Realisation exp. were Rs. 3000 but
actual exp. is Rs. 2400. The firm had to pay
Rs. 800 out of third realisation for which no
provision was made. N takes over the stock
at Rs. 2200 at the time of realisation.
Prepare a statement showing the distribution

of cash.

B4 @ faged & Tl gl agenr B geR
g
g et 14000 %, fgaia agelt 39000 %. 3R

JArg el 38000 . |
wY & foog 4000 B, &1 GHU ara o for

3000%. ¥ fgdra agett R Fuern il el g
3000 T. & =] IRAAS AT 2400 B. &I ARl

AT R 800 B. BN YIAM BT U9 foradT 3l
Ifaer= &1 o7l qaird agen W 5 @l 2200 B, H
N 3 o foraml s &1 faavoT iamgal

C-901

(7
Unit-II / 3oE-11

4. A Co. and B Co. were amalgamated into C
Ltd. There Balance sheet was as under :
A Ltd. 9T B Ltd. T UHIHRUT dReb Th AT BT
C Ltd. S9N | @2 A Ltd. ©d B Ltd. & fugn
7 UpR o :
Balance sheet
anffe g
(Figures in Rs.)
Liabilities A Ltd. | B Ltd.|Assets A Ltd.| B Ltd.
(Rs.) (Rs.) (Rs.) (Rs.)
Share capital[448000 [ 350000( Cash 24000 44000
Creditors 10000 | 12000 Debtors [ 46000| 80000
M eR TR
Reserve 16000 | 24000( Stock 84000 66000
Iaa THe
P/L A/C 22000 8000 Plant 82000 20000
QI AIERCIG] e
Building (100000120000
¥a
Goodwill [160000| 64000
It
496000 | 394000 496000 (394000
It was agreed that Building should be written
off by 10% and of both companies and 5%
provision for doubtful debts to be made. Good-
will was to be valued at 3 year Purchase
C-901 P.T.O.



(12)
Trial Balance
dciuc

Head Office  Branch Office

T SR N B
Particular (T9axoT) Rs. Rs. Rs.| Rs.

(Dr) (Cr) Dr)| (Cr)

Capital 46000
h
Furniture 6000 - 600 -
BHTR
Opening stock 10000 - | 7000 -
yRfRrs Tefoar
Sale - - - 146100
fasma
Debtor and creditors 17000 7600 | 16400| 800
¢ER U9 oHFER
Bank 3000 - | 6900 -
d®
Purchases & Sales 1,30000 |160000 [ 25000 -
w4 v fama
Trade Exp. 28000 - | 9000 -
RS T
Goods sent to Branch - | 24000 - -
SIRAT &1 AT NS
Goods returned by branch| 3600 - - -
OET = /1A @Arer
Branch A/c 40000 - [ 33000 -
EJIECIIEEIS])

237600 (237600

C-901

)
full of Rs. 10 in advance of calls. Remaining share-
holders have paid Rs. 9 per share as called up.
Assuming that preference shares have no prior
right as to capital. Prepare liquidator final state-
ment of account how you would divide the
available balance the shareholders assuming
that the cost of winding-up amount to Rs.
2000 and that the calls in arrears are duly col-
lected.
v feifiice &. &1 Uieed 1O G| ST df eiaTRal
30000 . § Rl fot a=ad & 178000 . T
g1 B B Y3l H 10000, 10 3. ITeT GATIBRI
3T T3 W 7 . Ul 379 o X I a1fed o WA &
ITRT 2| 8000 YaTTedR 3erenar = 319+ el of gof
ST 10 5. Ul 371 B X F W S & A 39D
31faRes 10000, 10 %. aTel AT 3T 9 o R 9 .
yfcr 3791 @ & | Arfaa fosar T A1l 2000 Tl
3RTENRAT 7 8 . Wi 37 B &R A YA fobar ol
4000 T 3ieTenRat =1 gui ART 10 5. 9l 31 & &R
A3 BT ST YA o< fean ol 9 sierenRar
793, Al 37 & &R 9 3N b artad fbam o A=
ax fazr e
I% Y &) T qoiieR siwrenRat o G5 § B

C-901 P.T.O.
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TaifteR & 81 30 e & 31 fgaxor @rar
S| 3T FHRT AR I REIRAT H 5 IER
qicH, I8 A9 g9 o I & @d 2000 5. O T
T B BT AT ol & F 91 R el T |
Unit-III / $oB-I11

6. Atrader deals in domestic appliances who sells
goods on hire purchase system. Gross profit
is 25%. Prepare trading A/c and Balance sheet
from the following particulars :

Rs.

Jan. 1 Stock out at hire purchase 4000

selling price
Stock on hand at shop 500
Installment overdue customer still paying 300
Dec. 31 Stock out of hire purchase price 4600
Stock on hand (at shop) 700
Installment overdue customer still paying 500
Purchases by cost 6000
Cash received during the year 8000
TP SR TRe IF § Sa4d BT & 51 ] d
UGHd R AT 99T 81 Fha @y 25 gioera g =
faa=or & mRe @rar qon fugn a9 -
C-901

(11)

2.

TR 1 o s & TR efoar-fasa 9w 4000

gfran g # g W 500
oI fed S UEdT B S 300
foaR 31 fommaT 59 90 R iR R TR 9 4600
T B H (TPH W) 700
fohed ST 9Tt &1 g@t € o UEdl DI et & 500
BT TR R 6000
R a¥ # U AP 8000

7.

A merchant of Agra has a branch at Ajmer,
which is supplied goods partly from Head of-
fice and Rest from outsiders. The goods are
supplied from Head Office at a profit of 20%
on cost.

From the following trial balance prepare Trad-
ing and Profit and loss A/c and combined Bal-
ance sheet :

3RT & UH AR BT AET 3R 7 & o o8
ISl ST BRI GRT STl ST 8 T P Al qe
J TRIEA 2| U Hrad F Jd AN | 20 ferera
Ssax AT ST &l

=1 aelue I R 3 @ B a1 R 9 WG
fugr R iR -

C-901 P.T.O.



(16)
"a= § 3T o WA e g & e & o
S -
5.
31 #1d & T gJ 9y H faha 7000000
1 38d & 30 57 & 3afer ¥ fapa 8000000

fieer af 1 g ¥ 30 AR & 1800000
3t W fama

A 9y 1 Jems ¥ 30 RaawR 120000
o 3rafy § fama

¥ & R g 1600000
GIE 500000
3T @M R R &g § gaa 50000

g & B0 B & fordr arfalRes g 100000
I8 AFT T {6 ol fag ot gfg @f wata § @1
FAISH & T T &, ST SR & IRT I
{5 = gt arat B o D

C-901

(13)

The closing stock of Head office was Rs. 6400 and
of Branch Rs. 9000 (This includes goods of 4800
received from H.0.). It does not include goods of
Rs. 6000 in transit.

Y BT &1 i~ ¥eld 6400 T. G LNET & U™
31T T 9000 B. T (fSTFH 4800 B. T AT To=
Praterd & wd afferd om) 5 it & 6000 B. @
T FeT HRATAT = HoT AT W] 98 I | F

Unit-1V / $BR-IV

Prepare necessary accounts from calculating

Profit and loss of X Co. from the following par-

ticular :

(i) Company supplies goods in containers
which are charged at Rs. 7.50 to its cus-
tomer and on return with in a month at is
credited at Rs. 6 to the customer ac-
counts.

(ii) The company purchases 10000 container
at Rs. 5 each. 30,000 containers were
sent to customers out of them 24000

containers were returned by them. The

C-901 P.T.O.



(14)

period of 5000 containers has not been

expired.
(iii) Rs. 16000 were spent on the repairs of
containers.

(iv) The closing stock of containers is valued

at Rs. 4 per piece.

X fafics &, e faaxor & @y &1 & o Siforar-

(i) X . PR A A STt & 3R T I 7.50 .
ufd Be-R foran S €, 1 718 § SR amd
M R TED & T DI 6 3. & &9 I pise
fopam srar 21

(i) T 10,000 TR 5 3. Pl R F HI Al
TTEd! BT 30000 o= Aot T fod & 24000
HeR AT 37 TA| 5000 BRI @ A=A
3rafer areft g STEl g 2

(i) P T 16000 T. TRFT R I B

(iv) TR & 31fan wd & I 4 . Uid e
gl

M/S 'C’ Ltd. has a loss of Profit insurance policy

of Rs. 2100000. The period of indemnity is

three months. A fire occurred in the building

C-901

(15)

on 30th June. From the following information

calculate the amount of insurance claims :
Rs.
Sales from the period ended 70,00,000

on 31st mach

For the period from 1st April 80,00,000

to 30 June

For the period from 1st July to 18,00,000

30 Sep. Previous year

For the period from 1st July 1,20,000

to 30th Sep. Current year.

Standing charges for the year 1600000

Profit 500000

Saving in standing charges on fire 50000

Additional expenses to reduce loss. 100000

Assuming no adjustment has to be made for
upward trends in turnover, compute the claim

to be made on the insurance company.

T 9y 161, 9 2100,000 5. B TH & M D ST
el o &1 exfayf & srafér 3 A &1 30 S B

C-901 P.T.O.



